Earth’s Shape and Size

4 Proofs of Earth’s Shape

· [image: image1.png]Lines of 7
sight to
Polaris

Horizons at

1. Equator (O deg. latitude)

2. 45 deg. latitude

3. North Pole (30 deg. latitude)

equator




Lunar Eclipse – only a sphere can cast a shadow that appears _______  During a lunar eclipse, the ________ casts its shadow on the _______ during the full moon phase.

· Ships appear to sink _________ below horizon.

· Observations of the star POLARIS – NORTH STAR
Polaris is over the geographic _________ Pole of the Earth.  Polaris _____ _____ change position above the North Pole.  It cannot be seen in the Southern Hemisphere (below equator) because it does not change position above the North Pole – it is fixed.  
Because Earth is a sphere, Polaris appears to change altitude (angle measured in degrees above ________) as you move south of the North Pole.
· The North Star appears lower and lower in the sky as you travel toward the equator.  At the equator the North Star is just visible at the horizon so its altitude is 0°.  The latitude of the equator is 0°.  Latitude is the angle in degrees north or south of the equator.  
In the Northern Hemisphere, the altitude of Polaris tells observer his latitude position.
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___________ OF POLARIS = __________ OF OBSERVER

Plainedge’s latitude is ______ = Polaris’ altitude is _______

· Satellite imagery – absolute proof

Is the Earth perfectly round?

· The Earth is NOT a perfect _______
· It is flattened at the poles and bulges at the _______
·  Earth is slightly out of _______ or OBLATE
What is the proof that Earth is an oblate sphere?

· Gravity measurements.  Gravity is the force of attraction between any 2 objects.               
· Increase mass of objects = increase _________              
· Increase distances = decrease gravity 

· If Earth were a perfect sphere, it would be expected to exert an _______ force on objects at equal distances from the center of earth.
· Weight – measure of gravitational _______.   We are further from the center of the Earth at the equator – gravity is less.  This means we weigh ________ at the equator.

· Earth’s __________ causes bulging at the equator and flattening at the poles.
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The least amount of gravity would be high mountains – farther from the center of earth.  
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